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goooaoo

g = googooo

goooogo =

000000000000 az AZ, _, 09.
000,000000000000 NG.
000000000000000 NG.
00000000000000000000,0000000
oooooo.

gboooooboboooog:

if/elif /else

if 00 1:

oo l1goooboooooo

elif OO 2:
oo0100ooo0oo20b0000o0o0ooad
elif OO 3:

00 120000000 300000oOoooOooOoO
else:

gdoboooooooooououoooo

elif 000000 OK.OOODOOO.
else000O0O0O0OO.
oooooooooOoOoOoODOOO0. 00000 OK.

while/else/break/continue

at+t=b~a=atbJ000O00 .

b e latalals while OO :
a-=Db~a=a-
s %= bwa=arxb00000 goooooooooooooo
00 else:

’ godobo0ooooooooooon
ooooa else00O0O0OO.

def OOO (OO ):
goooooo

00000000 return 00O
coooooooK.oogoooo.
gooooooOoOOOOODOODO. 00000 OK.

OO000000DO0O0, aplus_b(2,3) 0 5 000000O.

def a_plus_b(a,b):
c=atb
return c

go0poooOoOooooOoOoooo.oogoo OK.

for/else/break/continue

for elm in sequence:

sequence 01000 (00 emO00O0000)0000O0OOO
else:

gooboooooboooooon

elseJ 0 OOOOO.
0000000000 0O00O0O0o0.00o0o0oon0 OK.

0009000000000000
for i in range(10):
print i

break/continue
whileOOOOOO forOOOOODO,break0 00000, O
gboooobob. 0000 else0000O0O0O0OO.

wvhileOOOOOO for 000000, continueOO OO0
o,0b00b00oooooboo.

goooo

< <= > >= <> 1=

good

True, False

not z, z and Yy, % or y

List

a=[40,31,22,13]

len(a) ~ 4, al0] ~ 40

al[0]==a[-3], a[1]==a[-2], a[2]==a[-1]~~ True
ooooo:

[ O for ODODOO if OO ]

(if 00°0000)

[ 2%xi for i in rage(9) if i \% 3 == 0] ~ [0,6,12]

0000000 (000000 a=[0,11;b=[2,3,4
c=a+b ~~ ¢==[0,1,2,3,4,5]

c=a*2 ~» c==[0,1,0,1]

c=b[:3] ~ c==[2, 3, 4]

c=b[1:] ~ c==[3,4,5]

c=b[1:3] ~ c==[3,4]

c=b[:] ~» c==a

000000 (000000 a=[0,3,1,2]):
a[0]=1 ~ a==[1,3,1,2]

a.append(4) ~» a==[0,3,1,2,4]
a.insert(1,4) ~ a==[0,4,3,1,2]
a.extend([10,11]) ~ a==[0,3,1,2,10,11]
b=a.pop() ~» a==[0,3,1]; b==2

b=a.pop(1) ~ a==[0,1,2]; b==3

a.reverse() ~ a==[2,1,3,0]

a.sort() ~ a==[0,1,2,3]

oo (@ooooag a=[0,2,3,1,2,2]):

5 not in a ~» True
a.index(5) ~~ 00O

2 in a ~» True
a.index(2) ~ 1
a.count(2) ~~ 3

,51):

Tuple
a=(0,1,2,3,4)

LstDO0OO0OD0OO0ODOO0O. 0booboooooooooo.

O0O000O00000OD0D0o0ogn: +=00,1,2);
List 0 O tuple O: a=[30,21,12]; tuple(a)
Tuple O O list O: a=(30,21,12); list(a)

(a,b,c)=t




